R25...Compound Measures - Pressure



OCR



Edexcel



’ - Video created by W Neill
25 The diagram shows a concrete block on horizontal ground. 4

R25 o £
A
[2cm 65¢cm
P = pressure
12cm F= losce
A = area

The block 1s a cuboid, 12 cm by 12cm by 65 cm.
The block exerts a force of 220newtons on the ground.

Calculate the pressure that the block exerts on the ground.

Give your answer 1n newtons/cm’

_______________________________________________________ newtons / cm?

(Total for Question 25 is 2 marks)
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25 A force of 70 newtons acts on an area of 20 cm? Video created by W Neill

ressure = e
ﬂqsl"he force 1s increased by 10 newtons. Eal area

The area 1s increased by 10cm?

Helen says,
“The pressure decreases by less than 20%”

Is Helen correct?
You must show how you get your answer.

(Total for Question 25 is 3 marks)
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R25 force
pressure =

area

Work out the force when the pressure is 24 N/m? and the area is 3 m?

Circle your answer.
[1 mark]

0.125N 8 N 27 N 72N
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25 The dimensions of a rectangular floor are to the nearest 0.1 metres.
NS7 Not drawn
R2H accurately
26m
6.4m

A force of 345 Newtons is applied to the floor.

The force is to the nearest 5 Newtons.

force
area

pressure =

Work out the upper bound of the pressure.
Give your answer to 4 significant figures.

You must show your working.

[5 marks] Answer N/m
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A force of 345 Newtons is applied t ihe %or.

The force is to the nearest 5 Newtons.
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Work out the upper bound of the pressure.

Give your answer to 4 significant figures.

You must show your working.
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force
pressure =

R2H area

A force of 40 Newtons is applied to an area of 3.2 square metres.

Work out the pressure.

Give the units of your answer.
[2 marks]

Answer
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Give the units of your answer.

P ) (‘{9 [2 marks]

(essue. R

Answer l 2 S N / fVl_/L




